Orden de Operaciones (D)

Realice las operaciones en el orden correcto.

1. (—=21) x 88,62 440,78 + 56,35+ 3 + 41,38 + 54,35

N

(22,21 % (—61,064 (—28,18) +0,4)) x (82,38 + (—20,78) — 29,36)

W

. 74,2 (70,6 % 13,6 — (77,47 +83) — (—28,73 +27,38))

4. (—89,25) x (—67,08) — (37,644 19,95) + (—41,55) x (—64) + 94,01

5.35,35+ (—15,19) + (—50,05) + 13,4 — (—7,49 +92,49) + (—86)
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Orden de Operaciones (D) Answers

Realice las operaciones en el orden correcto.

1. (—=21) x 88,62 440,78 + 56,35+ 3 + 41,38 + 54,35
— —1.665,16

2. (22,21 + (—61,06+ (—28,18) +0,4)) x (82,38 + (—20,78) — 29, 36)
= —8,06

W

74,2 — (70,6 x 13,6 — (77,47 +83) — (—28,73+27,38))
= —.726,84

x (—67,08) — (37,64 +19,95) + (—41,55) x (—64) 494,01
1

9

035,354 (—15,19) 4 (—50,05) + 13,4 — (—7,49 +92,49) + (—86)
= —.187,49
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